KS Tools Werkzeuge und Maschinen GmbH
Seligenstadter Grund 10-12
63150 Heusenstamm

performance (1100

0000 160.1060
EAN( 4042146982372

150 - 685 mm

) mom™
)

og

- 00O0oo

s DO000DODOOOO

s J000DODOOOObDbooO
goo

* DO00O00OOO0o

s JO00DObOOoOoo

« 000000004y

s D0O0OoboOooooooo
oo

s JO00DDOOobooog
000000000000
* 0000000400

* O0O00o

o

0000 mm: 1570
D000 mm: 290
OO0 mm: 420

gogo: 1
00 kg: 5000
gooooo: 5,0
Material1: O
00 mm: 1510
00 mm: 535
0000 00 mm: 150
000 D0 mm: 685
[0 mm: 200
0o g: 89000
oooo1: ooo
000 mm: 365
*0000000oooo

goooooooodd 1/6



KS Tools Werkzeuge und Maschinen GmbH
® Seligenstadter Grund 10-12
9

63150 Heusenstamm

—
| ] -
i
oo
. . . 00000
0 0o0000no
160.1060-R001P 1x e oo (S[a]s[n[s[nla[als)
160.1060-R002P 2x o oo 000000000
160.1060-R003P 2 X no pietire 0o ooooooooo
160.1060-R004P 2 X o pickire 0o ooooooooo
160.1060-R005P 3 x o pickire ood ooooooooo
160.1060-R006P 2 X o pickire ood ooooooooo
160.1060-R007P 2 X o pickire 0o Joooooooo
*00000000000

goooooooodd 2/6



KS Tools Werkzeuge und Maschinen GmbH
® Seligenstadter Grund 10-12
9

63150 Heusenstamm

160.1060-R008P 1x no pietire ooooo ooooooooo
160.1060-R009P 2x no petire oo ooooooooo
160.1060-R010P 2x no petre oo 0oooooooo
160.1060-R011P 1x o picture 0o ooooooooo
160.1060-R012P 2 X e picture 11 M10x25 goooooooo
160.1060-R013P 1Xx e pickire [ M10x16 goooooooo
160.1060-R014P 2 X i ]l gooooooao
160.1060-R015P 1x na ctire oo ooooooooo
160.1060-R016P 2x no pietire oooa ooooooooo
160.1060-R017P 2x no petire oo ooooooooo
160.1060-R018P 2x no petre oo ooooooooo
160.1060-R019P 1x no pietre oo ooooooooo
160.1060-R020P 1x no petire oo ooooooooo
160.1060-R021P 1Xx e pickire ]l goooooooo
160.1060-R022P 1x i goo goooooboo
160.1060-R023P 1x no mctire oo ooooooooo
160.1060-R024P 2x no pietire oo ooooooooo
160.1060-R025P 1x no petire oo ooooooooo
*0000ooooooo

goooooooodd 3/6



(<3TOOLS)

KS Tools Werkzeuge und Maschinen GmbH
Seligenstadter Grund 10-12
63150 Heusenstamm

160.1060-R026P 1x no pietire 0 ooooooooo
160.1060-R027P 2x o pictire oo ooooooooo
160.1060-R028P 2x o picture oo 0oooooooo
160.1060-R029P 2x o picture 0o ooooooooo
160.1060-R0O30P 1Xx e picture Ol goooooooo
160.1060-R031P 1Xx e pickire (OXRIN goooooooo
160.1060-R032P 1x no picture good gooooooao
160.1060-R033P 1x o picture ooo ooooooooo
160.1060-R034P 1x no pietire ooo ooooooooo
160.1060-R035P 1x no petire oo ooooooooo
160.1060-R036P 1x no pieture (ONn|uiulN ooooooooo
160.1060-R037P 1x no pietre oo ooooooooo
160.1060-R038P 1x no petire oo ooooooooo
160.1060-R039P 1Xx no picture goo goooooooo
160.1060-R040P 2 X i Ol goooooboo
160.1060-R041P 1x no mctire [0, 6mm ooooooooo
160.1060-R042P 1x no pietire 00, 9mm ooooooooo
160.1060-R043P 1x o pichure oo ooooooooo
*0000ooooooo

goooooooodd 4/6



(<3TOOLS)

KS Tools Werkzeuge und Maschinen GmbH
Seligenstadter Grund 10-12
63150 Heusenstamm

160.1060-R044P 1x no pietire ooo ooooooooo
160.1060-R045P 1x o pictire [ M12x20 ooooooooo
160.1060-R046P 1x o picture oo 0oooooooo
160.1060-R047P 1x o picture 0o ooooooooo
160.1060-R048P 1Xx e picture Ol goooooooo
160.1060-R049P 1Xx e pickire goo goooooooo
160.1060-R050P 1x no picture O (] gooooooao
160.1060-R051P 1x o picture ooooo ooooooooo
160.1060-R052P 1x no pietire ooo ooooooooo
160.1060-R053P 1x no petire oo ooooooooo
160.1060-R054P 1x o picture ooooooo ooooooooo
160.1060-R055P 1x no pietre ooo ooooooooo
160.1060-R056P 1x no petire oo ooooooooo
160.1060-R057P 1Xx no picture (OXRIN goooooooo
160.1060-R058P 2 X i goo goooooboo
160.1060-R059P 1x no mctire oooa ooooooooo
160.1060-R060P 1x no pietire ooo ooooooooo
160.1060-R061P 1x o pichure oo Mm10 ooooooooo
*0000ooooooo

goooooooodd 5/6



(<3TOOLS)

KS Tools Werkzeuge und Maschinen GmbH
Seligenstadter Grund 10-12
63150 Heusenstamm

160.1060-R062P 1x no pietire oo ooooooooo
160.1060-R063P 1x o pictire (17 M10x35 ooooooooo
160.1060-R064P 1x o picture oo 0oooooooo
160.1060-R065P 2x o picture Doooooo ooooooooo
160.1060-R066P 1Xx e picture goog goooooooo
160.1060-R067P 1Xx e pickire Ol goooooooo
160.1060-R068P 1x no picture oo gooooooao
160.1060-R069P 1x o picture oo ooooooooo
160.1060-R070P 2x no pietire oo ooooooooo
160.1060-R071P 2x no petire ooo ooooooooo
160.1060-R072P 1x o picture oood ooooooooo
160.1060-R073P 1x no pietre oo ooooooooo
160.1060-R074P 1x no petire 0oooooooa ooooooooo
160.1060-R075P 1Xx no picture goog goooooooo
160.1060-R076P 1x i Ol goooooboo
160.1060-R077P 2x no mctire oo ooooooooo
160.1060-R078P 1x no pietire oo ooooooooo
160.1060-R079P 1x o pichure oo ooooooooo
*0000ooooooo

goooooooodd 6/6



